A LolEOofel It
Mz L= SX(ARISX/ 0l - HAad)
o2l ZALESH Mg & HAMAE 29 (CH2]: ®M2)
SA BB SR(E) - HRAY - BES Ofl kot J| & o Hnz2
Eael PYifiielin); 166,123,310 164,759,968 1,363,342
= 108, 163,485 107,797,398 366,087
s 3,008,900 3,007,331 1,569
J| 229,449 229,449 0
== 12,371,757 12,361,540 10,217
Al 40,892,985 39,927,516 965,469
= 1,456,734 1,436,734 20,000
OISl BX(AZISXI/ =0l - HAH) 126,110,262 125,333,835 776,427
= 86,057,114 86,041,674 15,440
s 3,008,900 3,007,331 1,569
J| 229,449 229,449 0
< 7,755,133 7,787,229 A32,096
Al 29,019,034 28,247,520 771,514
= 40,632 20,632 20,000
HFAL2st HE 2 BAAE 2 691,385 346,856 344,529
HFAZe A8l K& 14,985 16,650 1,665
201 L2 3| 7,785 8,650 2865
01 At22t2ld| 7,785 8,650 2865
OSEEAMAL A8 FXAK/S(0IAIE2) 7,380 8,200 2820
—&&E = 6,750,000 6,750 7,500 AT750
—&A0| A=A 630,000 630 700 AT70
OHAURS AN E22 L S48 HIZH(0lAI=Z)
28 270,000 270 300 A30
OFAMARYET} OFASE R (0lAE2)
2 135,000 135 150 A15
301 EtEEZ 7,200 8,000 A800
11 EALHIXIRAZ 7,200 8,000 A800
OZdl23t lAIHA $9§E(01I&§%*)
& 7,200,000 7,200 8,000 A800
SIEE 2tel 326,400 330,206 A3,806
201 23| 267,092 270,765 A3,673
01 At22t2ld| 33,057 36,730 A3,673
OSEE 224 OISl L RS (0AE2)
1,827 2,030 A203
—Ig= Z2A 360,0002 360 400 240
—QtM S| 23 180,000 180 200 A20
— 5ot A 162,000 162 180 A18
—ds=3 AA 315,000 315 350 35
— g XIotA3 X 810,000 810 900 290
OAR2 =HI(HAEZ)
AA 1,080,000 1,080 1,200 A120
OFIAZE 22l (0l A=) 10,710 11,900 A1,190
—SIEE 22| ABSE 7Y
ZA 2,700,000 2,700 3,000 A300




A =IOt
HE: Lo=X] SA(MIEX/ 0l - HAH)
@2 FALES A 2 FANE 29 (Crel: & 2l)
SA B SR(E) - HRAY - A2 Ofl kot Il H o HRE2
—SIEE SHEA 22l 2BF 72
23 2,160,000& 2,160 2,400 £240
—Sl&E YAFIE 2R Ltz
23 5,850,000 5,850 6,500 650
OSI&EE H=I| A== (0larE2)
A& 540,000& 540 600 260
oIy IEd a2 (0aE2)
AA 18,900,000 18,900 21,000 22,100
405 KHaHE S| 1,167 1,300 A133
01 AR ESEFHSHI 1,167 1,300 A133
OSIEE AIRA 22 R (0laE2) 1,167 1,300 A133
—dHED 23X 538,000 538 600 AB2
TV 2 629,000 629 700 AT1
SFAl SEEAALE HE 350,000 350,000
401 Al &EHIZL LY 350,000 350,000
01 Al&H| 350,000 0 350,000
OGFAl SEEAAE HE J|I24H L TAHE §
249 350,000,000& *14! 350,000 0 350,000
Lol=x & 109,883,063 109,710,065 172,998
= 85,601,283 85,601,283 0
= 2,922,165 2,920,596 1,569
< 4,132,842 4,128,291 4,551
Al 17,206, 141 17,039,263 166,878
= 20,632 20,632 0
LoIsX S 2,411,662 2,402,780 8,882
201 et 3| 36,462 40,180 23,718
01 AtR2elt] 33,462 37,180 23,718
OLQIALZEY| =2=Z(HAEY)
AH 18,522,000 18,522 20,580 A2,058
OLQIALZAH| HIRHMIIE AMEM S QIRAE HA
Fol(oarEzt)
A& 450,000& 450 500 A50
OLQIAUSEH| BIRHIE AIZHA AEIHHIE
(Ol &t 2L A 675,000 675 750 AT5
OLCIALZAH| BIRHMIIE Al ME(0AEZ)
Z3 1,080,000 1,080 1,200 A120
OL0ISXNEN SSA ATHME (M AEZ)
A& 3,330,000 3,330 3,700 A370
O&% & 2AET S M (HlaEZ) 540 600 260
—=X AA 450,0002 450 500 AB0
—LUX ZA 90,000 0 100 A10
OLQIA==SEoA 319 =2 (ulaE2)
43 4,320,000& 4,320 4,800 A480
O |2 NFHAAMARSG] AAF =SH(0AIE2)
AA 3,600,000 3,600 4,000 A400




2A:
X{XH -
o /e

cH):

2B O9(3) - MRAY - BES Ofl o I3 o GImE==T
OR23| 3|9 IHx si4=a M (oA
2 945,000 945 1,050 2105
307 eI2+o| & 269,200 274,600 25,400
04 DIZHHAIAIEE X 48,600 54,000 25,400
O0BO0IE JIE#AHETE N (HAEZ)
Z2& 30,600,000& 30,600 34,000 23,400
O3&Ed JG#A(BETE FH)(MaE)
23 9,000,000 9,000 10,000 A1,000
Okl I8 &xL0l JZAA(EZE HH)
(Ol &t 2L 2% 9,000,000 9,000 10,000 A1,000
401 AEHIZL O] 48,000 30,000 18,000
01 AI&HI 48,000 30,000 18,000
Otist=213] FFAIXIZ XIGHED 2= L ALY B
SAH 18,000,000 %1 A! 18,000 0 18,000
M1 M= LoIALUHEH 100,000 0 100,000
307 I2+0I& 100,000 0 100,000
02 QIRHBAIAHEE R 100,000 0 100,000
OHMM1E = LoAHUUEM(EEE )
100,000,000 *1A! 100,000 0 100,000
oINS S EHAIA 20,952 23,280 A2,328
301 LBEAEZ 4,752 5,280 AbB28
11 HAAHIX 23 4,752 5,280 A58
OLolatad AN 2 s EFA0HI(uarE2)
Z2& 2,376,000 2,376 2,640 N264
O3 #0I&s &A0dl(oarz)
2% 2,376,0002 2,376 2,640 ~264
307 eI2+o| & 16,200 18,000 A1,800
04 DIZHHAIAIEE X 16,200 18,000 A1,800
Okolol & 0|8 Loltisr g sl (BEEE )
(GlarE)
23 16,200,000 16,200 18,000 21,800
LOISXIXIZAAS 250,471 226,421 24,050
307 I2+0I& 250,471 226,421 24,050
10 AISIS XA EEHE2IHIEE 172,561 148,511 24,050
OZ2Y =3 T2 2A2IX AAYI(FIN(EXE
T oK) 24,050 0 24,050
— QI Y| 2,323,600+ 1 +72 16,266 0 16,266
—ANEEZ 17,659,360 x 1% % 10% 1,766 0 1,766
—&=H| 300,000 1 +7& 2,100 0 2,100
—E&EEF 17,659,3602%1/7 2,523 0 2,523
—FEFOHI 2,323, 600 *60%x*124%135] 1,395 0 1,395
SERER2Y 1,107,855 1,109,400 A1,545
201 LE23H| 23,805 25,350 A1,545
01 At22teld| 13,905 15,450 A1,545




A LoIEOHeI
M LoISX SA(MEISX/ =0l - HAH)
Hel LoI=X SA (cro): =2l
2A - HH - H(SH) - MRAIY - BES Of] &K J &3 o Hws2
Og=s=25 232 JHE ZHI(oaE2)
338 4,500,000 4,500 5,000 A500
Og=>e2sEZRER JRE 2ZEHY N 7
(Ol aFE2Y) 8,415 9,350 ~935
—SHE A AN 3,465,000 3,465 3,850 A385
—MSLI|A A 4,950,000 4,950 5,500 A550
OYFS=S2IINER HI0l2A ojgtZz ) U
SOotT2 8 PA(MAIE2) 990 1,100 A110
—HOlHAA Mg ==z
Z& 495,000 495 550 A5
—50r T e AA 495,0002 495 550 AB5
(D)SHLQIF I ST OHEOAMEIA 221,271 218,132 3,139
s 110,635 109,066 1,569
(o= 33,191 32,720 471
Al 77,445 76,346 1,099
307 I2+0I& 221,271 218,132 3,139
s 110,635 109,066 1,569
(o= 33,191 32,720 471
Al 77,445 76,346 1,099
05 RIZIRIE S 221,271 218,132 3,139
OSHE SZUNOHAAHIA 2 XA
221,271,000 %14 A 221,271 218,132 3,139
s 110,635 109,066 1,569
(o= 33,191 32,720 471
Al 77,445 76,346 1,099
(2)EZAYREZAAY 440,160 399,360 40,800
(o= 44,016 39,936 4,080
Al 39, 144 359,424 36,720
307 EI2+0I& 440,160 399,360 40,800
== 44,016 39,936 4,080
Al 39, 144 359,424 36,720
11 AIBISTIAMEER 440, 160 399,360 40,800
OZZ2AY R4
2 440,160,000 440, 160 399,360 40,800
(o= 44,016 39,936 4,080
Al 3%, 144 359,424 36,720
12Y 2IAY 5,387,756 4,384,596 1,003, 160
= 455,831 440,391 15,440
J| 229,449 229,449 0
== 668,956 464,324 204,632
Al 4,033,520 3,250,432 783,088
22 29 1,613,780 1,041,500 572,280
201 LBt AY| 77,280 55,500 21,780
02 Z323H| 77,280 55,500 21,780




2A:
X{XH -
o /e

cH):

2A - ZH () - MRAIY - HAS Ofl &F2H JE A Hlns2
OZ2Y IHHHE &2
60,0002 *363IH A 21,780 0 21,780
401 Al &EHIZL LY 640,500 190,000 450,500
01 Al&Hl 640,500 190,000 450,500
OZ2EY d= & & BFoIEEd
2 33,500,000 %3 A 100,500 90,000 10,500
O2+H gs1e| A2 MF(02E SEXFNES)
(S2H THAH A
400,000,000 %1 JH A 400,000 0 400,000
OFzg dIx(=IH
30,000,000 104 30,000 0 30,000
OFHEANS OISTHIHE HE 28A(H+H
SFHNAISEZRY &)
10,000,000 * 1Al 10,000 0 10,000
402 QIZERHE0| A 750,000 650,000 100,000
01 CIZFXHE A B2 (KEHITHE) 750,000 650,000 100,000
OdzY B(Bx2 FY)
2 5,000,0002 %1501 A 750,000 650,000 100,000
(D)=L =X 911,662 880,782 30,830
= 455,831 440,391 15,440
< 136,749 132,117 4,632
Al 319,082 308,274 10,808
301 Let2d= 15,400 14,800 600
= 7,700 7,400 300
< 2,310 2,220 0
Al 5,390 5,180 210
01 ASIEEE2HS(2DEZ ML) 15,400 14,800 600
OZ2Y F224=2 Hist|
ZA 15,400,0002 15,400 14,800 600
= 7,700 7,400 300
< 2,310 2,220 0
Al 5,390 5,180 210
307 212t01™ 896,262 865,982 30,280
= 448,131 432,991 15,140
< 134,439 129,897 4,542
Al 313,692 303,094 10,598
10 AFRISXIAIEHE2AHIEX 896,262 865,982 30,280
OZ2Y WHetay| & 2k=H| XI&
ZA 896,262,000 896,262 865,982 30,280
= 448,131 432,991 15,140
< 134,439 129,897 4,542
Al 313,692 303,094 10,598
(D)H2HI | sE2ZAIY 520,000 120,000 400,000
== 260,000 60,000 200,000
Al 260,000 60,000 200,000




S2A: S IE eIt
& LOI=X SE(MISX/ 0! - HAH)
SR B2Y 2EAMY (Crel: & 2l)

SA - B G(3) - HRAY - BES Ofl Aot )l 3o {ImE=ST
401 AlEHIZL 08I 400,000 0 400,000
= 200,000 0 200,000
Al 200,000 0 200,000
01 Al&Hl 400,000 0 400,000
OT=EH HZ&cl AHEEZ2Y MF
400,000,000 %1742 400,000 0 400,000
= 200,000 0 200,000
Al 200,000 0 200,000
AMBIEXIAE XI& 10,148,058 10,892,318 AT44,260
s 86,735 86,735 0
= 2,953,335 3,194,614 A241,279
Al 7,087,988 7,610,969 Ab22,981
= 20,000 0 20,000
ANSI=XIAIE K& 1,397,051 1,371,851 25,200
201 LE23H| 10,800 12,000 A1,200
03 AL2ZH| 10,800 12,000 A1,200
OFIQLYRA A A3 WS(0AEZ)
23 10,800,0002 10,800 12,000 A1,200
307 212t01™ 1,290,451 1,264,051 26,400
11 AR SXAIEE L 238,800 212,400 26,400
OLQIUES=EMUIASAIA WSHl X(Bx2
T oH) ZA 100,0002*194% 122 232,800 206,400 26,400
(Z)LZANE2HR2 (HEAIS) 1,108,897 1,100,000 8,897
= 762,228 770,000 AT, T72
Al 326,669 330,000 23,331
= 20,000 0 20,000
307 212t01™ 1,108,897 1,100,000 8,897
= 762,228 770,000 AT, T72
Al 326,669 330,000 23,331
= 20,000 0 20,000
05 BIZIRIEZ 1,108,897 1,100,000 8,897
OL=ZANd 29 K&
AA 1,108,897,000& 1,108,897 1,100,000 8,897
= 762,228 770,000 AT, T72
Al 326,669 330,000 23,331
= 20,000 0 20,000
(D)1 208 X 6,051,150 6,829,507 AT78,357
= 1,815,345 2,048,852 233,507
Al 4,235,805 4,780,655 Ab44,850
301 et Z 6,051,150 6,829,507 AT778,357
= 1,815,345 2,048,852 233,507
Al 4,235,805 4,780,655 Ab44,850

02 A 2Z X 6IS(HLHS, L) 6,051,150 6,829,507 NT78,357




A LoIEOHeI
HE: Lo=X] SA(MIEX/ 0l - HAH)
el AlRISXIAIE X2 CEEEN
2A - ZH () - MRAIY - HAS Ofl &F2H JE A Hlns2
ORI |2 SHHIE XA
AA 6,051,150,000 6,051,150 6,829,507 ANT78,357
== 1,815,345 2,048,852 A233,507
Al 4,235,805 4,780,655 544,850
Hofels Xl SE(AIZ=SX/FAHSKIH) 39,810,820 39,269,937 540,883
= 22,106,371 21,755,724 350,647
< 4,616,624 4,574,311 42,313
Al 11,671,723 11,523,800 147,923
= 1,416,102 1,416,102 0
ZoHeI=sX & 39,810,820 39,269,937 540,883
= 22,106,371 21,755,724 350,647
== 4,616,624 4,574,311 42,313
Al 11,671,723 11,523,800 147,923
= 1,416,102 1,416,102 0
ZOHRISXIAIE XA 327,885 334,262 2NB,377
201 L2 3| 57,385 63,762 N6,377
01 At22t2ld| 57,385 63,762 N6,377
OFOCITNSKEX P (MAEZ)
ZA 585,0002 585 650 AB5
OHMeIMNZFITE EE2 Y RUSE M
(lar=2) 23 900,000 900 1,000 A100
ORI23| 3|2 JHE &40 HMZE(olaEZ)
23 315,000 315 350 A35
OSSN =SXAMARAA A =Y
(Ol arE2) 22X 6,480,000 6,480 7,200 AT20
ORI AtR4! Xtz X2 (0lAEZ)
A 42,940,0002 42,940 47,712 N4 TT2
OXONQIHOAlE AT =EH(0laE2)
ZA 1,080,000 1,080 1,200 A120
OBOMMISXEZA SSA AT HEH(HAEZ)
Z2& 3,150,000 3,150 3,500 A350
QXL MSEEHF SEEHA 2l & 22l
(ol &= 2 720,000 720 800 £80
O Se=EX 2 RIRIRAEHE A0 A3]
(oot 2t 1,215 1,350 A135
— A 23 900,0002 900 1,000 A100
—&A0{d| AX 315,000 315 350 A35
NI WE X 3,456 3,840 N384
301 et Z 3,456 3,840 N384
11 EALHIXIRAZ 3,456 3,840 N384
OZF0HI WS &4 ofd] KIJA(0AEZ) 3,456 3,840 N384
—ZOHOIXIEAF s &A 04d|
2 1,728,000 1,728 1,920 AN192
—ZofeI=X2H Ws & |
2338 1,728,000& 1,728 1,920 A192
ZOHCIGHALKIA 102,344 103, 160 1816




2A:
X{XH -
o /e

cH):

E=yel PV felin!

TOOI= K]
T 0foI= x|

P
ST (MEISX/FHAASXIE)
=x

(i}

SA - B G(3) - HRAY - BES Ofl Aot )l 3o {ImE=ST
301 EtEEZ 7,344 8,160 AB16
11 EALHIXIRAZ 7,344 8,160 AB16
OZOHISAL &4 OfH| KIZ(0lAE) 7,344 8,160 AB16
—Z0HQIol & AL EA (4l
AA 1,728,000 1,728 1,920 AN192
—HOHeIANE &EA Y]
Z2& 1,728,000& 1,728 1,920 A192
—ZOfeITHESRICHS] &4 Ol
a3 1,728,000 1,728 1,920 A192
—ZOfeICHN YR /s &4 oY
AA 2,160,000 2,160 2,400 AN240
HOHeID|ISZ IS K& 1,728 1,920 A192
301 Let2d= 1,728 1,920 A192
11 HARHIXIR S 1,728 1,920 A192
OFOCIDIsEIIUZ &It oH| X (oflarE2t)
Z2& 1,728,000& 1,728 1,920 A192
(D)EROIHAZ SRS 5,160,610 5,010,301 150,309
= 3,612,427 3,507,211 105,216
= 464,455 450,927 13,528
Al 1,083,728 1,052,163 31,565
301 Let2d= 5,160,610 5,010,301 150,309
= 3,612,427 3,507,211 105,216
= 464,455 450,927 13,528
Al 1,083,728 1,052,163 31,565
01 ASIEEE2HS(2DEZ ML) 5,160,610 5,010,301 150,309
O&eIHz XA
23 5,160,610,000 5,160,610 5,010,301 150,309
= 3,612,427 3,507,211 105,216
= 464,455 450,927 13,528
Al 1,083,728 1,052,163 31,565
()EH=L(0I=) XS 823,680 785,915 37,765
= 576,576 550, 141 26,435
= 74,131 70,732 3,399
Al 172,973 165,042 7,931
301 LEt2d= 823,680 785,915 37,765
= 576,576 550, 141 26,435
= 74,131 70,732 3,399
Al 172,973 165,042 7,931
01 MBIBEE G2 (2 NEXTHR) 823,680 785,915 37,765
OFM=L(IIx) XA
Z & 823,680,000 823,680 785,915 37,765
= 576,576 550, 141 26,435
= 74,131 70,732 3,399
Al 172,973 165,042 7,931




CO L QIEORR!

ni
C BOIEX SE(MIISX/FHAAHSKIH)
L YIS S

SA B SR(E) - HRAY - A2 Il H o C[ImE=ST}
(=)H=S (XA S) X2 373,907 390, 127 A16,220
= 261,734 273,089 A11,355
< 33,652 35,111 1,459
Al 78,521 81,927 A3,406
301 Let2d= 373,907 390, 127 A16,220
= 261,734 273,089 A11,355
< 33,652 35,111 1,459
78,521 81,927 A3,406
01 ASIBEE2HS(2DEZME) 373,907 390, 127 A16,220
OFOM==S(XHAS) XA
ZA 373,907,000 373,907 390,127 A16,220
= 261,734 273,089 A11,355
< 33,652 35,111 1,459
Al 78,521 81,927 A3,406
(Z)EoHeICIZ2HIXIA 209,944 109,944 100,000
= 167,955 87,955 80,000
= 12,597 6,597 6,000
Al 29,392 15,392 14,000
308 AHXIHHMISO0I& 209,944 109,944 100,000
= 167,955 87,955 80,000
= 12,597 6,597 6,000
29,392 15,392 14,000
13 B2 SOCHEHE A X LAY 209,944 109,944 100,000
OZoHel 2o=H| X
A 209,944,000 209,944 109,944 100,000
= 167,955 87,955 80,000
= 12,597 6,597 6,000
Al 29,392 15,392 14,000
(=2)zESLLEMAF2DOHE XIS 233,805 228,822 4,983
= 116,902 114,411 2,491
= 35,071 34,323 748
Al 81,832 80,088 1,744
307 212t01 & 233,805 228,822 4,983
= 116,902 114,411 2,491
= 35,071 34,323 748
81,832 80,088 1,744
11 AISIS XA E S 233,805 228,822 4,983
Oz SSLLEZMAF2HNE1KIA
A 233,805,000 233,805 228,822 4,983
= 116,902 114,411 2,491
= 35,071 34,323 748
81,832 80,088 1,744
(=)2EEF2IS1: 12X 209,456 0 209,456
= 146,619 0 146,619




2AM:
X{XH -
o /e

cH):

L OIE OOt
ZONRI=R SE(AEISKI/HUHEXH)
ZOjeI=A S&

SA - BB ORI(E]) - HRAY - B Ofl ko = Hnz2
= 18,851 0 18,851
Al 43,986 0 43,986
301 EtEEZ 209,456 0 209,456
= 146,619 0 146,619
< 18,851 0 18,851
Al 43,936 0 43,936
01 ASIEEE2HS(2DEZME) 209,456 0 209,456
OzESF2AAE1 1BIRHAIA
209,456,000 * 14! 209,456 0 209,456
= 146,619 0 146,619
< 18,851 0 18,851
Al 43,936 0 43,936
(S)AZ2IHHBONI DS KA AL 62,500 55,000 7,500
== 12,500 11,000 1,500
Al 50,000 44,000 6,000
307 212t01 & 62,500 55,000 7,500
== 12,500 11,000 1,500
Al 50,000 44,000 6,000
10 ALSIZ XA EHE2IHIE X 62,500 55,000 7,500
OLIEHEOHIIIE XA
Z2& 62,500,000& 62,500 55,000 7,500
< 12,500 11,000 1,500
Al 50,000 44,000 6,000
(2)HUQUAL 29X 2,485,715 2,485,000 715
= 1,740,000 1,739,000 1,000
< 745,715 746,000 285
307 212t01& 2,485,715 2,485,000 715
= 1,740,000 1,739,000 1,000
< 745,715 746,000 285
10 ALSIS XA EHE2IHIE X 2,485,715 2,485,000 715
OEMRAANL 29
HA 2,485,715,000 2,485,715 2,485,000 715
= 1,740,000 1,739,000 1,000
== 745,715 746,000 A285
(2)HOIHFAILCINESSAL 344 0 344
= 241 0 241
< 31 0 31
Al 72 0 72
307 212t01™ 344 0 344
= 241 0 241
< 31 0 31
Al 72 0 72
11 AMEISXAMSEEE 344 0 344




A =IOt
M ZOHISK SE(ASSX/HAHSKIR)
ol ZojelsX S (cro): =2l
SH - BB CR(E) - HIRAY - BES Ofl ko Jl 3 o Hns2
OZLIHFAIE CINESE M
344, 0003 *14] 344 0 344
= 241 0 241
== 31 0 31
Al 72 0 72
HojelF=2roIBAME2H 53,800 0 53,800
307 212t01& 53,800 0 53,800
MIASXANLHE2IHIES 53,800 0 53,800
OFOfeIF20IBAE 2H(BEE )
53,800,000 %14l 53,800 0 53,800
SHY2HZY| (=1 FOHCII) (JIEH JIEL) 146,355 156,196 29,841
JlE23l 89,763 99,604 9,841
JlE23l 89,763 99,604 9,841
201 LE23H| 24,735 27,484 A2,749
01 At22teld| 24,735 27,484 A2,749
OSAZX F(0larEZ)
AA 3,672,000 3,672 4,080 A408
OSZ20Hall(olarE2t)
AH 10,281,000 10,281 11,424 A1,143
Ogttx2 (0l AHE2)
ZA 1,080,000 1,080 1,200 A120
OLRE SARHI(0AEZ)
Z& 540,000& 540 600 260
OAR2 =HI(HaEZ) 7,326 8,140 AB14
—=SAD| =2l X 900,000 900 1,000 A100
—ZglFI| =2l ZA 180,0002 180 200 A20
—=AD| EYH 2 900,000 900 1,000 A100
—ZEIHJ|(EYW) Eu
Z2& 3,600,000 3,600 4,000 2400
—DEIHI(ZH) Ed
AH 900,000 900 1,000 A100
—PC =2l AA 306,0002 306 340 N34
—J|Et==clt| X 540,000 540 600 260
OJIEF APl (oflArE2t)
23 1,836,000 1,836 2,040 A204
202 0441 60,588 67,320 26,732
01 2U0dH| 60,588 67,320 26,732
OZLIoIHI (ol A=)
AA 44,064,000 44,064 48,960 A4,896
Oz20bI (oAt =)
28 16,524,000& 16,524 18,360 21,836
203 JFF=&H| 3,240 3,600 2360
04 EA2IHRFEHI 3,240 3,600 2360
ORMSILRFTHI(HlarE2)
Z2& 3,240,000 3,240 3,600 360




HH: JHPSS(LQIEOHQID) (AIBIE X/ I EME S A
cel: 2EIE (Ctol: X2l
2A - HH - H(SH) - MRAIY - BES Ofl Akt Jl & oA Hlns2
THRES(=OIZI) (ASISXI/ I =HEEE) 55,873 0 55,873
RSN 55,873 0 55,873
RSN 55,873 0 55,873
802 BHE=D|E 55,873 0 55,873
01 2NBx3E2 495 0 495
02022 = 495 0 495
—ZHOHQIHZFAIA DIsE2
495,000 * 14! 495 0 495
02 Al - SHIBZZ28E2 55,378 0 55,378
02023 & 50,069 50,069
—POIE Lol AASTHY L H22I((0IX)
1,340 %14l 2 0 2
—HESTEHASTHII-QIA A
5,363,830+ 14! 5,364 0 5,364
—HESEHYASTHICQIAI AR (O X})
1,6302%14! 2 0 2
—ARNY2R3AAY
2,674, 7202414l 2,675 0 2,675
—AZAILD222AAIA (0| XH)
1,7602%14] 2 0 2
— B QIS H== Al K5I 2 A 5L RIR (O KF)
8ORI*1 Al 1 0 1
—ANPH2UX SRS KK (0IX)
4902 %14 1 0 1
—H2Y OHHNAHASTIAIY
58,0004 14! 58 0 o8
— A QAL QI A RO O ZH| X2
175,500 % 14! 176 0 176
—H A QAL QI A XFO| O ZH| K2 (O] K})
6202414 1 0 1
—QISTIAE BAKISE R
17,523, 24024 %1 Al 17,524 0 17,524
—Z|RA) |2 SSAX 2o XY
24,262,880 %14l 24,263 24,263
020224 & 149 149
—ZHOHQIHZFAIA DS
148,500+ 14! 149 149
O2021E & 5,160 5,160
—F2Y J|Is2ELAIY
5,159, 1502414l 5,160 0 5,160




